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Full Marks : 80
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The figures in the margin indicate full marks

Jor the guestions
1. Answer the following as directed : 1x10=10
TS A iR Tes fm
(a) Define average propensity to consume
(APC). , :
TS Solrsrer SRS A fir 1

(b) Define gross domestic product.
s T o e o
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(c)

(d

(e)

.
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(2)

Mention one method of measuring
national income.

B S AR B oS T 0 |

What is effecti\ie demand?

Sfern ok R 2

F.‘rom left to right aggregate demand
curve is upward sloping/downwarq

sloping.

( Choose the correct answer ) .

PP w1 GifEte P oRM @om
@otal B It / weiE Il 5 |
(o= T R Thiea )

Keynesian equilibrium is a full employ-
ment/underemployment equilibrium.,

( Choose the correct answer )

ety omwe o For / s
SR | |
( 8% TSI IR S )

( Continued )

(3)

{g) Define autonomous investment.
FryS Rivcawr e fon o

(h) Marginal propensity to consume cannot
be greater than one. .
( State True or False )

AfRT (SISl AR GFELS TIeT T (ARIA |
(¥ &= R forn )

() What is an accelerator?
e B

() Define marginal efficiency of capital.
T el R e B |

2. Answer the following questions : 2x5=10
o eppTed e forn &
(a) What are the basic economic activities?

= St R R R

(b) How does Gross National Product differ
from Net National Product?

W% I T o[ TS B Teom Rwea
44T ?



(c)

@

(4)

Mention the determinants of ‘aggregate
demand function.

g DI T R e 31

Mention two  factors
consumption function.

affecting

" Co1 T SIS 7 1 S ST 4

(e) Whaf. is h1vesﬁnent?
R 2 “
3. Answer any .four from the fo_lloWing
questions : 5%4=20
(a) Explam the circular flow of income in a

(b)
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two-sector €conomy,

a8l S e o TR 44T M
ol

Explain  the mqin components  of
national income,

T ST S S 7 ¥ |

{ Continued )

(c)

(d)

(e)

(5)

What were the Keynes’ objections to
classical theory? Explain briefly.

ﬂ‘?ﬁvwﬁwmﬂ@’i{iﬁW?

SYLT I AN

Explain fhe relationship " between
margmal propensity to consume (MPC)
and multiplier.

zrrféir%ﬂzw A0 T QY THS 4T
oo 0T 9

Explain the relationship . between
marginal efficiency of cap1ta1 and
marginal efficiency of investment.

wia afe Frfrrel aF Rt s
SO WE TRl RN 0 |

Explam briefly the coﬁcepi! of _super-
multiplier.

'iwf%@mmmmsqhsmw:
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4. Answer any four of the following questions :

(6)

10x4=40

S 2Py R e wifar et B ;.

{a)

(b)

©

(d)
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Discuss the relationship between
national income and economic welfare.
What are the importances of measuring
national income? Explain. 5+5=10

| ?@ﬂﬁmwwﬁaﬁwwm«wvﬁm
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IR T |

Discuss the simple Keynesian model of

~ . income determination. L 10
W R e e ST e <R |
Discuss the classical theory of
employment. 10
e sefre weest e 74 1

Discuss critically the Keynesian
consumption function. 10

LD (19 FAH! TGRS ST
E2 I

({ Conitinued )

(e)
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(7)

Explain the relationship between
marginal efficiency of capital (MEC) and
investment. What are the determinants
of MEC? Explain. 4+6=10

TR afds Ffrwel wE RAGPR W
ToBl AP I FER AT FEfrEeR
oz B 2 w11

Critically discuss the accelerator theory. 10
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